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JE=ans 1,236,317 4,464,997 N3,228,680
HES L THar2e] 1,216,109 4,446,613 N3,230,504
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Her o AARe 27,967 29,680 A1,713
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01 At 22| 26,867 28,520 A1,653
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OIAHNNMBEAL YOoIdEZ2H EHPY
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OZ A K¢ 80,000 x3H x20 4,800
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RS 15,0002 *1CH 15
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E=EADN; 1,760& %6, 4402 & *14CH «90% 142,814
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OdE Relds 849 3,000,000& *12 3,000
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150,000 *305] &1+ 122 54,000
WYYy 0188 200,000% 1224 2,400
OIEEM R3(2F 60) 3,276
-E0E 23 80,0002 «3CH 128 2,880
-8 HE 23 16,5002 «2CH * 122 396
HMBHR3(HE3)
22,540%1+195] & +122 5,140
- X AIXI (SUS) 23 800,000 *122 9,600
HUTVA A2 170,000 %122 2,040
SUYBNEEZ 2 2,505,670%+122 30,309
OSUANE |X - 24 31,414
D EAIAE 153,920, 0002 * 1 A1 #6% 9,236
HESAY SHB2AlAL
131,558, 0002 1Al #6% 7,894
- CIXg & 300, 0002 *30CH *6% 540
k5] 40,0002 *500CH *6% 1,200
SAE B 1,000, 0002 +5CH #6% 300
- DEOEHEA 29,650, 0002 * 141 6% 1,779
S LRSI 30,000, 00024 * 141 6% 1,800
Fp 9 ABA YT
7,597, 20021 #1 41 x6%+50% 828
CTHEISIA SEFY 30,000,0002 141 6% 1,800
USRS 5,670, 00021 +141 6% 341
HEES =HAIAELY 16,980,000 14 +6% 1,019
- ISSYAILB(ARS) 4,493, 5002 «141«6% 270
stesed| 8,900, 00021 #141 x6% 534
SMS A 6,790, 0002 * 1Al +6% 408
CAFEE AAEHI 24,402, 00021 *1 41 6% 1,465
CTHSHEZ RR2El 2,000,0008%14) 2,000
SuEE 7S 29,600 0 29,600
401 Al 2 HI 2 2 H | 29,600 0 29,600
01 Al&t| 29,600 0 29,600
OGS L =FHAIAH 20,600,000 1A 29,600
SaFE P 2,300 2,900 £600
405 Xt oHF St 2,300 2,900 £600
01 ML SEH SH) 2,300 2,900 A600
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